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| Semester 3 Year LL.B./ V Semester 5 Yr. B.A.,LL.B. (Maj.-Min. System)/
V Semester 5 Year B.A.,LL.B./B.Com.,LL.B./B.B.A.,LL.B.
Examination, March/April 2021
CRIMINAL LAW - | : INDIAN PENAL CODE

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Question No. 9 and any 5 of the
remaining questions.

. Question No. 9 carries 20 marks and the
remaining question carries 16 marks.

. Answer should be written completely either in
English or in Kannada Completely.
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Q. No. 1. What are the principles of legality provided under criminal law
and state the protection available to the accused. Marks : 16
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What is meant by private defence ? State when such private

defence be pleaded and is lost. Marks : 16
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“A corrective or rehabilitative theory is an effort to restore a

man into society as good citizen”. Discuss. Marks : 16
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Q. No. 4. What is meant by unlawful assembly and state the ingredients
of it ? Marks : 16
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- What is hurt ? Explain the circumstances under which hurt
becomes grievious hurt.
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. What is Robbery and how does it differ from Dacoity ? Marks : 16
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. What is force ? State when an act becomes a criminal force. Marks : 16
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. Write short notes on any two of the following : . Marks:: 2x8=16
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(a) Cheating
oS

(b) Adultery
DRNIE Dl

(¢) Criminal intimidation.
Chsenlal liniate ]

Q. No. 9. Solve any two of the given problem : Marks : 2x10=20
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(@) ‘A’and ‘B’ agree to fence with each other for amusement
and in the course of this act, ‘A’ pierce into the stomach
of ‘B’ and causes grievous injury. Is ‘A’ liable for this act ?
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(b) ‘A’ affixes in a public place instigating a sect consisting
of more than 10 members to meet at certain place for
attacking ‘B’ at a procession. Is ‘A’ liable for the offence ?
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‘A’ instigates ‘B’ to instigate ‘C’ to commit the murder of
‘D'. ‘C’ commits the murder of ‘D’. What is the liability of
‘A’and ‘B’ ?
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